Работа по карточкам
Вариант 1                Упростить выражения:    -3х*(-8k)  ;   4х* (- 2,5) у   ;   -2с * (- 0,4 в)

                                                                                  - 3,5 а * 2 в  ,    1,7 х * ( - 3 ) у * а

 Вариант 2               Выполнить приведение подобных слагаемых 

                                       10 а + в  - 10 в –а    ;            - 8 у + 7 х  + 6 у + 7 х   ;

                                        - 6а + 5 а – х + 4   ;                  - 13 + 6х  - 20 – 14 х.

Вариант 3                Раскрыть скобки

                                - 2а(в + 4 – 2 k)     ;                  - а ( 3 х +  k  - р )   

                                 2,5( 4х – 2 у  - 4 )                      - 8 ( - 3 х – 5 у + 10)
Самостоятельная работа
Вариант 1    Решить уравнения   2,1х- 3,5 = 1,4                             Х = 
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                                                          - 20 ( х – 13 )  = - 220                Х=14

Вариант2   Решить уравнения        - 1,8х = 1,8 х – 7,2                     Х = 3

                                                             
[image: image4.wmf]3

7

+

х

        =        
[image: image5.wmf]5

3

2

-

х

             Х=44

                                                             ( 30 – 7 х ) * 8 = 352                Х = - 2
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